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QUESTION 1

Which statement is true about the Detached Credentials Collector (DCC) used in Oracle Access Manager? 

A. It is the default credentials collector for Oracle Access Manager 11gR1. 

B. It is the default credentials collector for Oracle Access Manager 11gR2. 

C. It is supported only by OracleAccess Manager 11gR1. 

D. It is supported only by Oracle Access Manager 11gR2. 

Correct Answer: D 

 

QUESTION 2

Your customer requires Oracle Adaptive Access Manager (OAAM) to perform risk analysis of the money transfer
transactions in their eBanking application. 

They have already deployed OAAM and OAM using the out-of-the-box Advanced integration. 

What must they do to capture and process their application transactions in OAAM? 

A. Configure the OAAM Server application with the definition of the new transaction data to be captured. 

B. Deploy the UIO proxy and configure it to capture the money transfer transaction data and submitit to OAAM. 

C. Change their eBanking application to use OAAM native integration. 

D. Deploy the OAAM sample application and configure it to collect the money transfer transactions. 

Correct Answer: A 

 

QUESTION 3

Which two earlier technologies does Oracle Access Manager 11g replace and provide a converged platform for?
(Choose two.) 

A. Oracle Access Manager 10g 

B. Oracle Identity Manager 10g 

C. Oracle Application Server SSO (OSSO) 10g 

D. Oracle WebCenter 10g 

E. Oracle Enterprise Single Sing-On 

Correct Answer: AC 
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QUESTION 4

Identify three required steps for configuring OAM-OAAM basic integration. 

A. Set theOAAMEnabledproperty totrueinoam-config.xml. 

B. Target the OAAM JDBC data source to the OAM Managed Server. 

C. Protected a resource in an authentication policy using the OAAMBasic authentication scheme. 

D. Install SOA Suite and configure the UnifiedMessaging Service (UMS) delivery channel for One Time Pin (OTP). 

E. Install and configure Oracle Entitlements Server (OES). 

Correct Answer: ABC 

 

QUESTION 5

Identify two artifacts that are present in an application domain of Oracle Access Manager 11g. 

A. Resources 

B. Authentication Scheme 

C. Authentication Policies 

D. Authentication Modules 

E. Data Sources 

Correct Answer: AB 
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